Year 7 Assessment Total Score /20
Sequences 1 | | m .

Name: A nevexs

How many grey squares would there be in the

4™ term of this sequence?
o Here are the first three terms in a sequence. I::I Ci’

1 mark How many white squares would there be in the

19t term of the sequence!?

Draw the next term in the sequence. 525 s a0 2n + 1 = 2 (\0() 1= 3 g l:l

How many circles will make up the 7% term? o Tick all the sequences that are linear.

- = 1\
m+2 = 2(0)+2 D 2.8 32, 128, 512 [ ]

‘Cb 1 mark
— e P
6.7, 63,59 55, 5.| IZ

o 0 O %’T“h . ~
Find the next two terms in each of the linear H | E I:I

sequences.

1 mark

65, 53, 4l, MZ:L_______ : _____!..:____ | ° Create two different linear sequences that
both start with the number 90
' 23 4, “4! — !2- s — 210

9, %2 , At , 96
225, 345, 465 _5-85, 7-05, I:I
| 3 marks 901 %O 70 60 D

’ = o

2 marks

Tl'\.O/rQ_, (e, QAN hlw\f\;\ﬂ'e nunber d“_
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o Find the next two terms in these geometric Find the missing terms in these linear sequences.

sequences.
s, [ .9
2

3, 9. 27. 8\ . 2432 ik . G
6000, 600, 60, b6 , O-6 [:l a

2 k
i 10 Find the next two terms in this sequence.

7, 8 10, 13, |71 . 22 D

\ A\ n A 1 mark
+1 42 +3 \-FL,.} 45

o This pattern repeats every four terms as shown.

What will be the 6% term in the pattern?
gl% Cross D These numbers make up two linear sequences.

2 (3][4] 6] [7

VVhat are the two linear sequences?

o Complete the table to represent the sequence. |
> w6 g ||

What will be the 31t term in the pattern?

1 mark

— | | st
.4 . e -
ji{ mooo
3 2 .l s Number ‘
© ol of matches Ind _7 \\ \6
i:& ——————————— b 9

1 mark

Would the points of the graph of this sequence lie
on a straight line? Explain your answer.

Yes \f\»ﬂj woulAh becaser tha §Q MG
Q) \v\mea,w \OJ the Sanwe w‘“"‘k ad’“ 1 mark
AR ‘t my Qo J (S l‘w&k(' |
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Year 7 Assessment l:' R ©

Sequences 2

Name: Rviswe 3

How many grey squares would there be in the

4t term of this sequence?
o Here are the first three terms in a sequence. D 7

m v"""" AVA'A'AYAYAV 1 mark How many white squares would there be in the Hak
© = q 12

|9t term of the sequence?
Draw the next term in the sequence. I -2 = 2(‘01) B e 26, D

A VAvAVaavasas
|5 o Tick the sequence that is linear.

How many triangles will make up the 5% term?

quld,(«\j 3 eacla tive ... I:I 1,8, 27, 64, 125

g
&

Find the next two terms in each of the linear

1 mark

i x+2, x+6, x+10, x+14 [ I:I

95, 87, 79, 7 \ : é% C"" g‘> 1 mark
o Create two different linear sequences that

-12, 2, 16, _ -?3 o , H Lt- C‘I" | L{-) both start with the number 25

899, 10, 1101, 12-0., 1%-03, C+ "Ob D 25, 30 , 35 Lbo

3 marks 25, 2 1—(— . Qg : 2 2" D

Thore Gae 't»\gmk’ce PomL\L&n es. ¢ la.,tgas T
% Jo Ubf’ n Oloww l":j e Sawe ﬁ.w,ouM‘l"
each b, e gy are lnnear ard oorrect.
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o

o Find the next two terms in these geometric - | |
ind the missing terms in these linear sequences

sequences. 54 _ 2
— B 15-3=

15,12 .9 —z

5, 10, 20, Yo , §oO 1z 7
\77 15 13 | 1l 9 I:'
9000, 900, 90, 4 ., ©-9 =t e
2 marks —é'_"'

This pattern repeats every four terms as shown. oF L

ind the next two terms in this sequence.
. ﬁ } n U8 af i | 7, 9, 12, 16, Z '27

U U\ 1 mark

What will be the 20t term in the pattern? "'2 *3r4 35 e

P wre\e Awves I:l

These numbers make up two linear sequences.
What will be the 41t term in the pattern?

Red Wikes | (6] (9] [10] [12] [16]

o Complete the table to represent the sequence. Al What are the two linear sequences!

a o & 41 |3

0 60 O

o0 00 ©
0O
3 w2 4 do 16 ||
- - - ' 1 mark
Would the points of the graph of this sequence lie |:|
on a straight line? Explain your answer. 1 mark

No. Thit is & Jeowmatric ad opposed
‘o ML“»\MQ/&'C uf\,eM SGWC-Q/ , D

1 mark

achildsquideto
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Year 7 Assessment lj
Sequences 3

Name: Answers

Here are the first three terms in a sequence.

1] \3
]

How many squares will make up the 5% term?

Hin+ |
2|

| ° Find the next two terms in each of the linear
sequences.

3,8 13, 13 . 2% (>5)

8000, 7200, 6400, S&oD , H2o0

627. 748 869, 9494 . 1) .

azy)

achildsguideto

|

1 mark

|

1 mark

3 marks

How many grey squares would there be in the

5% term of this sequence?
2 [

1 mark

How many white squares would there be in
the 8™ term of the sequence?

O

1 mark

o Tick the sequence that is linear.

3.8 5 13 18 E]

—
dk+2, 2k+6. 2k+ 10, 2;<+‘|4m D

1 mark

Create two different linear sequences that
both start with the number 25

25, 2Lt 2 2 22

25, 26, 27 28 |:|

% SO .. | O 2 marks
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Find the next two terms in these geometric

o Find the missing terms in these linear sequences.

sequences.
5. 10, 200 Heo . KO 5 12 9

e 1 "
9000’ 900‘ 90’ q ¢ Oci D —l""'""" 'S’W’““um“"g 2 marks

2 marks

o This pattern repeats every five terms as shown. | o
Find the next two terms in this sequence.

f/_'\\"' 1‘/""‘\"' 247 1, _l6 , 922 D

U \"/\J -
‘l‘l +3 ‘l"'f' +5 k_'l,/(‘; 1 mark

D o These numbers make up two linear sequences.

1 mark

What will be the 25% term in the pattern? %

What will be the 215 term in the pattern? 3 4 |6 a 12
- * D What are the two Knear sequences!’

1 mark

Complete the table to represent the sequence.

em |1 ]2]3[4

] -2 ¢ 4 [

. 2 L ¢ R

9 ’ 9

.. | | . - 1 mark

... .... ..... 6 1 mark

O0O0O O0O0O0

OO0

Would the points of the graph of this sequence lie
on a straight line? Explain your answer. @

I\‘o Emga 'h-@-— &&WCQ &i’-o RN < 1 mark

i, KEEPS \NONGEIVNG by owe .
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